tEEENT)7IRE-FilsE]

20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDHE Braa 5.82|F1/kWh
RABEDHS Bia 5.67|4/kwWh
(1) AR 2 BRI 2L B i = (S 39 R BHEi4E — 37,200 ) x EAH{fi 1,000 = BEDEE 5.82| M /kWh
202342 A ~20234F4 A TH D E B sHTEE HABEDEE 5.67|F/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.4699
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.0000 = R B AE B il 0.189 M
C: 1tdh=Y DA A XM 43,744 7: 0.7879 I 7 I B 2 B il 0.184 M
FIRAFMEE = Axa +BXB +Vxy =68000H  (100AKEHMEIERA)
(2) MENFAEEM=A<BDIGE. IENFBEM=(A—B)x50% x 1 +HERHE) = 0.00|F4/kWh
ASCOIHE ., MENRHEBHEM=(A—C)x50% X (1 +HEREK) = 0.00|F4/kWh

A: BTADIT)T7 IS4 RXEHE (Fitk) 10.28
B: =xHBALREM TR 8.00
C: BN (Frik) 18.00

Uk




REEHNTIVZI[EE-FiR®E]

20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDHE Braa 8.12|/kWh
RABEDHS Bia 7.85|/kWh
(1) AR 2 BRI 2L B i = (S 39 R BHEi4E — 31,400 ) x E 4B {fi 1,000 = BEDEE 8.12|H/kWh
202342 A ~20234F4 A TH D E B sHTEE HABEDEE 7.85|F/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.1152
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.2714 = R B AE B il 0.213 /M
C: 1tdh=Y DA A XM 43,744 7: 0.7386 I 7 I B 2 B il 0.206 M
FIRARMEE = Axa +BX B +Vxy =69500H  (100AKEHMEIERA)
(2) MENFAEEM=A<BDIGE. IENFBEM=(A—B)x50% x 1 +HERHE) = 0.00|F4/kWh
ASCOIHE ., MENRHEBHEM=(A—C)x50% X (1 +HEREK) = 0.00|F4/kWh

A: BTADIT)T7 IS4 RXEHE (Fitk) 10.28
B: =xHBALREM TR 7.00
C: BN (Frik) 14.00

Uk




RRENTIV7(EE-Fi®E]

20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDHE Braa 6.32|F3/kWh
RABEDHS Bia 6.23|4/kWh
(1) AR 2 BRI 22 B i = (S 39 R BHEIAE — 44,200/ ) x BB {fi 1,000 = BEDEE 6.32| M /kWh
202342 A ~20234F4 A TH D E B sHTEE HABEDEE 6.23|F/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.1970
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.4435 = R B AE B il 0.224 /M
C: 1tH=YDFEH A EAfhE 43,744 [ 7: 0.2512 I 7 I B 2 B il 0.221 M
FIRARMEE = Axa +BXB +Vxy =72400H  (100AKEHMEIERA)
(2) MENFAEEM=A<BDIGE. IENFBEM=(A—B)x50% x 1 +HERHE) = 0.00|F4/kWh
ASCOIHE ., MENRHEBHEM=(A—C)x50% X (1 +HEREK) = 0.00|F4/kWh

A: BTADIT)T7 IS4 RXEHE (Fitk) 10.82
B: =xHBALREM TR 7.00
C: BN (Frik) 14.00

Uk




FHREITIZ(EE-RHIBE]

20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDHE Braa 5.80|F1/kWh
RABEDHS Bia 5.72|9/kWh
(1) WAF 2 BRI 22 B i = (S 39 R BHEi4E — 45,900 ) x E A B {fi 1,000 = BEDEE 5.80|F/kWh
202342 A ~20234F4 A TH D E B sHTEE HABEDEE 5.72|F/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.0275
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.4792 = R B AE B il 0.223 /M
C: 1tdh=Y DA A XM 43,744 7: 0.4275 I 7 I B 2 B il 0.220 M
FIRARMES = Axa +BXB +Vxy =T71900H  (100AKEHMEIERA)
(2) MENFAEEM=A<BDIGE. IENFBEM=(A—B)x50% x 1 +HERHE) = 0.00|F4/kWh
ASCOIHE ., MENRHEBHEM=(A—C)x50% X (1 +HEREK) = 0.00|F4/kWh

A: BTADIYTT54 R EHIE (Biik)

9.11

B: =xHBALREM TR 5.00
C: BN (Frik) 13.00

Uk
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20234

1849

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

MREBEFRBEEMOENLE

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDHE Braa 6.78|F1/kWh
RABEDHS Bia 6.69|F1/kWh
(1) AR 2 BRI 2L B i = (S 39 R BHEIAE — 21,900/ ) x EAB{#i 1,000 = EEDISE 6.78| M /kWh
202342 A ~20234F4 A TH D E B sHTEE HABEDEE 6.69]F/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.2303
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.0000 = R B AE B il 0.152 /M
C: 1tdh=Y DA A XM 43,744 7: 1.1441 I 7 I B 2 B il 0.150 M
FRARMEE = Axa +BX B +Vxy =66500H  (100AKEHMEIERA)
2) ENRAREM=A<BOGE. HENABREM=(A—B)X50% X (1+HEREK) = 0.00|F4/kWh
ASCOIHE ., MENRHEBHEM=(A—C)x50% X (1 +HEREK) = 0.00|F4/kWh

A: BTADIT)T7 IS4 RXEHE (Fitk) 6.38
B: =xHBALREM TR 5.00
C: BN (Frik) 13.00

Uk




ERENTIVZ[EE-FAEE]

20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDHE Braa 6.75|F/kWh
RABEDHS Bia 6.66]F1/kWh
(1) AR B BRI 2L B i = (P39 R BHEIAE — 27,100 ) x E 4B {#i 1,000 = EEDISE 6.75|FM/kWh
202342 A ~20234F4 A TH D E B sHTEE HABEDEE 6.66]F3/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.0140
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.3483 = R B AE B il 0.158 /M
C: 1tdh=Y DA A XM 43,744 7: 0.7227 I 7 I B 2 B il 0.156 M
FIRAFMEE = Axa +BXB +Vxy =69800H  (100AKEHMEIERA)
2) ENRAREM=A<BOGE. HENABREM=(A—B)X50% X (1+HEREK) = 0.00|F4/kWh
ASCOIHE ., MENRHEBHEM=(A—C)x50% X (1 +HEREK) = 0.00|F4/kWh

A: BTADIT)T7 IS4 RXEHE (Fitk) 6.17
B: =xHBALREM TR 5.00
C: BN (Frik) 13.00

Uk




FEEITVZ(EE-FHIBE]

20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDHE Braa 9.78|F/kWh
RABEDHS Bia 9.49|F4/kWh
(1) WAF 2 ER 22 B i = (S 39 R BHEi4E — 26,000 ) x EAH{fi+-1,000 = BEDEE 9.78|M/kWh
202342 A ~20234F4 A TH D E B sHTEE HABEDEE 9.49|F4/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.1543
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.1322 = R B AE B il 0.234 /M
C: 1tH=YDFEH A EAfhE 43,744 [ 7: 0.9761 I 7 I B 2 B il 0.227 M
FIRAFMEE = Axa +BXB +Vxy =67800H  (100AKEHMEIERA)
(2) MENFAEEM=A<BDIGE. IENFBEM=(A—B)x50% x 1 +HERHE) = 0.00|F4/kWh
ASCOIHE ., MENRHEBHEM=(A—C)x50% X (1 +HEREK) = 0.00|F4/kWh

A: BTADIT)T7 IS4 RXEHE (Fitk) 6.16
B: =xHBALREM TR 5.00
C: BN (Frik) 13.00

Uk
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20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDES

Biid

1.73

RHABEDSES

Biid

1.52

F1/kWh
F1/kWh

(1) PR BB B = (E PRI — 26,000 ) x FEAEE {1,000 =
20232 A ~2023F4 A FH D E S #isHEE

EEDGE

1.73

BABEDSS

7.52

A: 1K T=Y O TR E 71,300 [ o: 0.2104
B: 1t&H71-YDFHLNGIEHE 106,865 M 0.0541
C: 1t&H1=Y DFEY A mEAfhitE 43,744 M 7: 1.0588
FIRAFMEE = Axa +BXB +VXxy =67100 "  (100AKEHMEIERA)

(2) NEAREEME=A<BDIGE. NEAFEHEM=(A—B)x50%x (1 +HEHRE) =

A: BTADIT)T7 IS4 RXEHE (Fitk) 6.16
B: =xHBALREM TR 5.00
C: BN (Frik) 13.00

ASCOIBE ., BIENAEEM=(A—C)x50% x (1 +HEHRE) =

F/kWh
F/kWh

= A B

0.188

Fe Al e A 4L B A

0.183 M

0.00

0.00

F/kWh
F/kWh

Uk
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20234

MREBEFRBEEMOENLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

gremz

BRXEH T LR/INT—

KB (T, B IRICLBIESIE (BEDHEFSFTIELHIAI50M/kWh) Z M B FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

MHBRFREEMm=DRBBABEM+QEENREEM

BEDES

Biid

5.19

RHABEDSES

Biid

5.11

F1/kWh
F1/kWh

(1) PR BB B = (EY PRI — 27,400 ) x F#EE{f 1,000 =
20232 A ~2023F4 A FH D E S #isHEE

EEDGE

5.19

BABEDSS

5.11

A: 1K T=Y O TR E 71,300 [ o: 0.0053
B: 1t&H71-YDFHLNGIEHE 106,865 M 0.1861
C: 1t&H1=Y DFEY A mEAfhitE 43,744 M 7: 1.0757
FIRAFMEE = Axa +BXB +Vxy =67300H  (100AKEHMEIERA)

(2) NEAREEME=A<BDIGE. NEAFEHEM=(A—B)x50%x (1 +HEHRE) =

A: BTADIT)T7 IS4 RXEHE (Fitk) 6.02
B: =xHBALREM TR 5.00
C: BN (Frik) 13.00

ASCOIBE ., BIENAEEM=(A—C)x50% x (1 +HEHRE) =

F/kWh
F/kWh

= A B

0.130 M

Fe Al e A 4L B A

0.128 M

0.00

0.00

F/kWh
F/kWh

Uk




